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Topic/Objective: Projectile Motion Class/Period:

Questions/Main Ideas:

Notes:

Projectile Motion

Defined as: {\ TN Ok fY\o‘W)ﬂ Nl an
OBjet 1S or dvopped .

The Equation:
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Uses for the model

If we are given the initial velocity (or speed) of the object and the
height (or position) at which the object is launched or dropped, we
can use this model to determine how long it takes for the object to
reach various heights.
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Solving projectile motion
problems:

Hint: Draw a picture AND
use previously learned
knowledge!
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A person is launched from 4 feet high off the cliff at a speed of 48

feet per second. Their projectile motion is represented by the
following function
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What is the maximum height that the person reaches?
h=-10(19)" «+ 4de( 1.5) +4
N=~16(205) +1a +Y

h = -3+ 0

N =40 {eer

How long will it take for the person to reach his maximum height?
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An athlete throws a ball from an initial height of 6 feet and with an
initial vertical velocity of 46 feet per second.

a. Write an equation that satisfies the scenario.

h(jc) =~ 1t 4+4dLt +

b. How long did it take for the ball to reach its maximum height?
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c. What was the maximum height of the ball?
N=—1e(Lud 46 (LUY) +©
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d. The ball landed on the ground after how many seconds?
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A toy rocket is launched up in the air with an initial velocity of 30
feet per seconds at 4 feet above ground.

a. Write an equation that represents the scenario.

M) = ~lt"+ 30t +4

b. How long did it take for the rocket to reach its maximum

height? _ ;
v b = —29 = 9315 Second
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c. What was the highest point that the rocket reached?

N=-1L(.a515)* +26(.4%15) + 4
h= -14 + 3¢ +4
N= 18 ot

d. The rocket landed in the water after how many seconds?

x= -30+x1a06-9 (1Y)
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